| Efficiency vs Dxy |
0.02

QOG-

R T
s 1 o o o
002

R i
0,008
0.006E i i oo

0.004F- i
0002 i

OEIIII.IIII.IIII.IIII.III .IIII.IIII.IIII.IIII.IIII
1_— ---------------------------- o - R T
0_9:_ ........................................................................

08 e 55-15-10 =5 0 5 10 15 20 25

—=— DQM_DisplacedSUSY__mkFit_

| Efficiency vs Dz |

—— DQM_DisplacedSUSY__mkFit_BDT_

0.05
T e

00
0,085+ b

0.03fwrovssoespoe il oo
L
s |1 1 e e
O] SR SN SR {1 L SO SRS

0,08 ol
TUC SRR SRR 1 T —
SRV




	Contents
	Page 1


